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Abbreviations
R ring Ch Chain
SR Split ring vsp Very small picot
B bead Cl close
SS Switch shuttles Lj Lock join
Fsvp False very small picot
Two shuttles with 2 V2 yards on each and wound CTM.
Add 8 beads to shuttle 1 and 16 to shuttle 2 Shi
Take loop through centre bead and anchor with a pin. Sh2
See fig. 1 ——
Fig. 1
Make chain iy
Ch: vsp (use another pin to keep space) 2B 2vsp2B2vsp2B2vsp2B2(you
should have 4 vsp, 4 B) remove first pin and Lj to space left after removal See fig. 2
then continue Fig. 2
vsp2B2vsp2B2vsp2B2vsp2B 2 (again you should have 4 vsp, 4 B) Lj to vsp
@ start of Ch removing pin first — see fig. 3 then SS
Fig. 3

SR1: Fvsp2 -3/ Fvsp2-3CISS

*Ch: 5SS bead @ back of hand

SR2: 3B3/2B2CISS

Ch: 5RW

R3: 3+ B (SR1) 2 + (next vsp centre Ch) 2 - 3 CI RW
Repeat from * all round joining ring 15 to ring 1 with a bead.
C & T to base R1 after final Ch.

For further help/information please email me.
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